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exponenhad form: e =0
logour ithmic formn: A=« exporunt”
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L RS lﬁour |03 has no writen \oqsal
W 1s an understooel base of 10,

2°=39
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@ Kowante In |06ar\—\—hmlc. form:
@i;zlb 3= Log I | semc o> Log 2k =3
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cx5 ) Solve ! ux _5)

Q) 1o = yx -2
10000 = (X
+3

1000 3 =_%)_(_
P |

ol 17 =x\

GYseve: Legs @SDF%s (2x+4)

Pro(:.ur‘\«j. If ﬁang =,(,o%bt\/, Yhun M=N

Translathon: T 4we 10055 with the soame

base, are U]UCJ , Hhun” whot 15 inside
Y \0%5 ore cc]ual 4o each othaer,
3% = ZX +4
t|
3)( = +5
- 2ZX
X=5 \
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